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01 At 22/l 19,920 21,430 A 1,510
O3 XNLMIXA M
70,000 x53 » 128t A 4,200
O==Z& M 70,0003 20 A 1,400
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N2l 2te] 42,464 39,464 3,000
201 L4 17,464 17,464 0
01 At 22l 3,464 3,464 0
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SRl T Atz (cho &)
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
202 0db] 6,000 6,000 0
01 2LHOHI 6,000 6,000 0
OMare| gdRFA 5,000
OSFMA AEFZE AL 1,000
303 A2 3,000 2,500 500
01 ZAaZ 3,000 2,500 500
O2HJAINE H&XX Al 3,000
401 AIEHIL 20| 20,000 10,000 10,000
01 Al& Bl 20,000 10,000 10,000
O33AN&E=E RANE= 20,000
405 XHabF SHI 20,000 0 20,000
01 A&t =S F SHI 20,000 0 20,000
o221 WM Y (&2t 18,000
OZAF 24 2 2,000
HAF 2tel 40,000 30,000 10,000
401 AIEHI L 20| 40,000 30,000 10,000
01 A& bl 40,000 30,000 10,000
O&AN RANE= 40,000
HHSHAY (M) 32,450,109 31,189,965 1,260,144
= 120,750
= 32,329,359
JlE&ddl 32,868 32,447 421
Jl2&l 32,868 32,447 421
201 LEt2 Y| 17,628 17,207 421
01 AR 22| bl 15,096 14,075 1,021
O=sAMEXN 7L 20,900& 202t A 12 5,016
OBAMI,HA S KX 22 500,000& x12& 6,000
OANRES #*¢ 100,000& *12& 1,200
O&=xJ gz 40,000& x12& 480
ONB(EY.XY) ¥ BX IS8
600, 000& *43] 2,400
02 332494l 2,532 3,132 A 600
OAR4a M2 200,000& x12& 2,400
Osdgdsz 11,000 x12& 132
202 04l 11,040 11,040 0
01 2LHOHI 11,040 11,040 0
Mg =Wl 11,040
203 QR =&lY| 4,200 4,200 0
04 2SI L RF=AH| 4,200 4,200 0
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| ORAN2EYE=LHI 350,000& »12& 4,200
A29Hl 32,417,241 31,157,518 1,259,723
= 120,750
[ia 32,296,491
ol 2| 32,244,741 30,947,518 1,297,223
101 @14l 25,854,982 24,893,337 961,645
01 2= 21,248,975 20,344,542 904,433
Oos3(23, Ax)|z, S9) 14,371,640
— 323 81,320,000& x1H x 14 81,320
— =2 (43) 74,112, 7803 x1H + 14 74,113
— 4= 4,277,000 «4H « 128 205,296
— 52 4,055,600& x19H 123 924,677
— 6= 3,418, 100& x120H »12& 4,922,064
—-7=2 2,817,100& x107H 123 3,617,157
— 8= 1,893,300& *x77H x12& 1,749,410
— 9= 1,357,200 »48H «12& 781,748
- X&2 5,228,600& x2H x12& 125,487
— X & At 2,580,900& x22H x 12 681,358
—Jls6s 3,510,400& x4H 123 168,500
—Jls7s 3,035,700& x14H x12& 509,998
—Jls8s 2,533,600& x16H + 123 486,452
—Jls9= 1,835,800 x2H x12& 44,060
Oss a=2 14,371,640,000& *0.03 431,150
omya+g
14,371,640,000% *1/12%2%0.45%1.03 1,110,210
OxlI22g(2E, AHF)I|E, 8Y) 776,410
— 5= 11,591 67 Al 2F* 19 122 «25% 44,267
— 6= 9,886& *67 Al 2t+120H « 12 «25% 238,451
—-7=2 8,930% *67 Al 2t %107 H «12& »25% 192,058
— 8= 8,017&3 67 Al 2t *77F » 122 »25% 124,080
— 9= 7,247 +67 Al 2t x48H «12& #25% 69,920
- X&2 11,4193 x67 Al 2t +2H « 123 «25% 4,591
— X & At 9,332 «67 Al 2+ x22H «12& #25% 41,267
—Jls6s 9,886& 67 Al 2t x4 H x 122 »25% 7,949
—Jls7s 8,930& *67 Al 2t * 14X » 12 »25% 25,130
—Jls8s 8,017 *67 Al 216 = 12& »25% 25,783
—JIs9= 7, 2473 67 Al 2t %2 « 128 »25% 2,914
OxlIg(2E, A, SYH) Aa2
776,410,000& *0.03 23,293
OIS (ELREAM) 112,475
— Ol & A Y 8,930& *30Al 2t *3H 4& x1.03 3,312
— ZAHY 8,930 *15A| 2h 4% 23 «1.03 1,104
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— sy 840
8,930 x20 Al 2+ *5% x38 *1.03 2,760
— MOIHE 29
8,930 * 16 Al 2t *15H x2& x1.03 4,415
—oze #y
8,930 *67 Al 2t *12H *12& x1.03 88,742
—2HA(R4, 222)
8,930 *30Al 2 *2H x 128 x1.03 6,623
OXH & =< 113,956
— 1NsSsuW 459,500& *4 3| x62H 113,956
OEsY 344,640
— B X+ 40,0003 x305H 128 146,400
— 2205 20,000 698 H x12& 167,520
— 22AIIFIHAZ 30,000& x72H +12& 25,920
— 22AJIEIAS 80,000& x5 x12& 4,800
O8z2s+4Y I3 459,360
— 253 0| & 130,000& x 110 ~12& 171,600
— 2048 0| & 254 0|8t 110,000& x107H +12& 141,240
— 154801 & 204 0] &F 80,000& x50 x12& 48,000
— 108 0l & 153 0| BF 60,000& x61H +x12& 43,920
— 55014 104 0]t 50,000& *91H x12& 54,600
OfIgags< 48,360
-3 50,0003 x55H x12& 33,000
—2Z 40,000 »32H x12& 15,360
ORYEILRE I3 9,600
- 24 50,000& x7H x12& 4,200
- 24 50,0003 x2H x12& 1,200
-2 24 50,000& x7H x12& 4,200
O34 251,070
—4=2U=2 4,277,000 x4 . 1%*2H 128 x1.03 4,335
— 53 4,055,600 *4.1%*61H «12& x1.03 125,369
—63UHS 3,418,100 4. 1%+61& x12& *1.03 105,662
— 722 0IsdLs)
2,817,100& *4 1% 11H 128 *1.03 15,704
o2e|lgese 15,333
— 432 4,277,000 2= x12& x1.03%9/100 9,516
— XN E=2 5,228,600 *1H 128 x1.03%9/100 5,817
OJdlsdgsd 83,160
- 53 50,0003 x6% x12& 3,600
—-62~73 30,000& *90H x12& 32,400
— 82 ~9=2 20,000& *34H x12& 8,160
— X &2 60,000& x2H x12& 1,440

_6_




SM: HPD
B #N2ABY (WD)
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SA - FE - BI(EA) - NRAY - By 0l b SSa DS
— NS At 50,0003 22«12 13,200
— Jtit= 24,360
< JIAL 30,000 «b5H 122 19,800
JIAR2S 20,0003 «19%¥ «12& 4,560
ogzgesg 60,624
—JIEH(d 2+ &) 1,012,000& x1H x 123 12,144
—JIEN(EAxd 22 E) 250,000 +11H~122 33,000
— =2 M 70,0003 «2H 122 1,680
— A4S A 50,000 «20H « 12 12,000
— 22 JI M 50,0003 «3H 12 1,800
OXsx2d ¥ IR =¢ 8,160
— 1S golot 40,0003 x17E «12& 8,160
OfIgeEss=2d+¥ 10,000& »2H «12& 240
oA+ 30,000 x40 « 12 14,400
OFSEO R =, 1,200
— 34014 50,000 «2H « 122 1,200
Os8H2!® =¥ 70,0002 «110¥ «12& 92,400
OZd+g 46,176
— S4(83) 38,0002 «1H x 128 456
-t 50,000 «6H 122 3,600
— 2= € MJl HHE
270,000& x13H «12& 42,120
OAMel=Xgesg 70,0003 *31& «12& 26,040
Os0tsd+¢ 600,000& x25H «12& 180,000
Oxgz==g 47,173
— A4S A 71,7813 72 %302 +1.03 15,527
— ZALS AL 71,7812 «1H x40 +1.03 2,958
— g EcA 71,7813« 128 %402 %1.03 2,958
— BAYZ A (JIA)
71,7812 +3 %1162 %1.03 25,730
O0rnz2R=g 76,538
— A B (ASA)
2,977 +7TH +8A| 2+%3652 1.03 62,676
— BAZ A (YElA)
2,977+ 1H *8A| 2k%1002 *1.03 2,454
— AR (YAH)
2,977 1H +8A| 2k%1002 *1.03 2,454
— 2222 (IIAH)
2,977 1H *8A| 2%3652 1.03 8,954
OuM =g 480
— s l=4dH 40,0002 «1H « 128 480
OZ Nz Al 130,000 490 x12& 764,400
OgZESIttl 14,371,640,000% *2/12%60% 1,437,164
O ¢ IIE &l 14,371,640,000& x10/360%0.86 343,323
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02 JIEH R 2+ 1,746,852
OHEEE 943,097
-== 2,439,8003 x22H 123 644,108
—32 U= 644,108,000& 0.03 19,324
—&d2aY 644,108,000& *2/12%0.5%1.03 55,286
— &2 Jhita 21,600
253 0 & 130,000& x2H «12& 3,120
204 01 & 254 0] ¢t 110,000 x7H »12& 9,240
- 10& 014 15 0] et 60,000 x 12 «12& 8,640
- 54014 10& 0] et 50,0003 «1H 128 600
—EY 20,640
- i At 40,000 18" x12& 8,640
- BAIE 20,0003 x50H 123 12,000
— NEsH EXxE 9,190
nE=)=ami 459,500 43| x5H 9,190
— A2 Z2E 163,388
Jle(15E 0l 4t)
8,221 «12H *67Al 2tx 128 79,317
- Jl2(1540]2tH)
7,641 *11H*67Al 2tx 128 67,578
=t 7,641 4 H «32A] 2t 12 11,737
AN2RAZE S QTAE
158,511,000& *0.03 4,756
— o224 2, 7403 +8H +36562 +1.03 8,241
EEATS = 30,0003 x2H x12& 720
— &g 50,0003 <1 «12& 600
OAH A 654,635
—-3= 3,200,000 *14H x12& 537,600
-2 Aa=Z 537,600,000& *0.03 16,128
—EE 10,800
b < Kt 40,000 10 =128 4,800
2AIE 20,0003 x25%H 12 6,000
— A2 2
7, 7723 *14H *67 Al 2t 128 x1.03 90,107
OF gAY 130,000& 36 122 56,160
OZEF Ot 644,107,200 *2/12+60%*1.03 66,344
O A 4| 26,616
—HAZE 644,107,2002 *10/360*0.86%1.03 15,849
— A A 537,600,000 *10/360%0.70%1.03 10,767
03 RIAHAZZAE S 2,859,155
OgZdolsta el 915,029
—JlE= 1,154, 7403 +22H x12& 304,852
—Jlgag 1,724, 7403 x22H 43| x50% 75,889
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chel: ol gyl CEEEED
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- &2+ 1,724, 7403 x22F x23| x50% 37,945
— M 1,724, 7403 »22H 53] *50% 94,861
- &= 21,360
b < Xt 40,000 *22H =128 10,560
SANE 20,0003 x45%H 123 10,800
—ExYRE 90,0003 x22H «12& 23,760
— X EA+E 70,000 *22H x12& 18,480
— M Z A 160, 0003 x22H «12& 42,240
— A2 =] 110,000 x22H »12& 29,040
—Ws2Xdl 140,000& x22H «12& 36,960
— ZE S| 1,724, 7403 23| *60% 2,070
—ZUZRFE 199,437
NEEEEEE
7,630 x22F *30Al 2+ x 128 »150% 90,645
guaeay
61,050 x22H «4 5 128 «150% 108,792
— QX 61,0503 x22H 10 13,431
—NESHExY 14,704
Nssu 459,500 x8H 43| 14,704
OMNRBER & Sz 943,047
—Jl=2 46,0002 +45% x2512 519,570
—olgay 11,040,000 *4/12+45% 165,600
— Al (ol nY)

46,0003 /8%1.5% 1% x48A| 2t 12& 4,968

— A2tel &gt
46,0003 /8+1.5%42H »15A| 2t+12& 65,205
— A2l &E (HIA &)

46,0003 /8%1.5+2H 22 A| 2t+12& 4,554
—Resgs¥ 46,0003 45«52 107,640
—MHE= 90,000 *45%H 123 48,600
— QX< 46,0003 45«10 20,700
—5Y2RH(AEYIASHAF L)

46,0003 *1.5+3H «8L 1,656
— 522 (L)
46,0003 1.5« 1H 66 L 4,554
Oogges 20,871
—Jlegs 47,300 *1H »251 11,873
—Jlz=g 11,352,000 *4/12x1H 3,784
— A2t

47,3009 /8+1.5+1H 154 2t x 128 1,597
— RS 44,3003 * 1«52 2,304
—MHE= 70,0003 «1H «12& 840
—Qlx=g 47,3003 *1H 10 473

(OF=ESPNR=YN 20,877
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—Jlzs 1,620,000& x1H x 123 19,440
— Azt =g 7,980 x1H «15A1 2t+122 1,437
ORUAE A 21,976
—Jlas 48,4003 *1H »251 12,149
—Jlg=g 11,616,0009 *4/12x1 3,872
— ANzt =g 48,4008 /8+1.5%15A| 2t x12& 1,634
— RS 48,400 «1H x522 2,517
—MHE= 110,000& x1&H 123 1,320
PN 48,4002 «1H x102 484
OJdls(AR)e= 381,966
—Jlz2s 53,6003 x 11 251 147,990
—Jlz=g 13,202,600 *4/12x11Y 48,410
— Al2teI g
53,6003 /8*1.5%x15A1 2t x6H x12& 10,854
—ANAAS+L (LB AERP)
53,6003 /8*1.5%48A] 2t+2H x 12 11,578
—A2tel=g(gadel)
53,6003 /8*1.5%30Al 2t+3H x12& 10,854
S =g R =y 53,6003 x 11«52 30,660
—ME=g 80,0003 «11H 128 10,560
— =g 53,6002 *11H 10 5,896
— oA (Ladel, 2ad)
53,6002 «1.5+5%H «108& 43,416
— AR (2F)
53,600 1.5+3H 84 20,261
-2 (Lage, EAd)
53,600 1.5+5H x42 16,884
—FL2e>g(235)
53,6003 1.5+3H 24 5,789
— 2R (LS HANRY)
53,6003 1.5+2H x66 L 10,613
— Lot (S, Jatdel YAtd)
53,6003 «0.5+9H 34 8,201
OJI&s(E=)R 204,814
—Jl=s 60,0003 x7H 251 105,420
—Jlz=g 14,809, 000% 4/12+7H 34,555
— A2teI g
60,0003 /8*1.5%7H »15A| 2t« 128 14,175
—52Z22E 60,0003 *1.5+62H x33L 17,820
—Se52sE 60,000 «7H x522 21,840
—Ha=¢ 81,000 «7H 128 6,804
PN 60,0002 «7H =10 4,200
OZ2g4dE J&s(S+)2% 73,742
—JlEs 75,5003 +2H «251 37,901
—Jlg=g 18,699, 5009 x4/ 12%2H 12,467
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—52Z2fxE 75,5003 *1.5+2H x33 7,475
B =R R =y 75,5003 «2H x52 7,852
P RS, 60,000 «2H 122 1,440
— X 75,5003 «2H 10 1,510
O=Z LA JI=(S=)= 64,833
—Jl=s 60,0003 x2H 251 30,120
—Jlg=¢ 14,809,000 *4/12%2H 9,873
— N2tel 4
60,0003 /8*1.5+48A| 2t 2 x12& 12,960
—52dZ2RE 60,0003 1.5+ 2H 14 2,520
—SE5g+E 60,0003 «2H x52 6,240
—MHE= 80,000& «2H 122 1,920
—Qx=g 60,000 «2H =10 1,200
OYESFIHHIXZ 200,000& 23] x70Y 28,000
OI2ASRE S 100,000
OHZEERES 70,000
O ARES 4,000
ORJIAHLZ 22X 24X ZHI 10,000
204 MR AH| 1,106,820
01 Mg 67,800
o= 34,800
-z 650,000& x1H x12& 7,800
-2z 400,000& «1H 128 4,800
—42 AuE 350,000& x2H x12& 8,400
-5 & 100,000& x8H »12& 9,600
—sUaEAE 50,000 «7H 128 4,200
Oy, 14,400
—EAYZYE, sdIIsdHLAE
400,000 =2 x12& 9,600
—BAANGNE, sHIISHEH(DHE)
100,000 x4 H «12& 4,800
o=s.¢ 16,800
-5.9% 150,000 x7H »12& 12,600
f 5.89% 50,0003 «7H 122 4,200
OAMNZA(SSHSZHZAMGE L)
150,000 x1H 122 1,800
02 22 Xl 806,460
o=d, Ax)|2, 8¢ 806,460
-2 500,000 1 122 6,000
-2z 450,000 18 =128 5,400
— 42 400,000 «6H «12& 28,800
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- 53 250,000& x20H x12& 60,000
— 63 155,000& x 120 ~ 12& 223,200
73 140,000 107 »12& 179,760
—8~92 105,000& x 125~ 12& 157,500
—Jls6= 155,000& x4 128 7,440
- Jls72 140,000& x 14 x12& 23,520
- J|ls8~-93 105,000 x18H x12& 22,680
— Xl & Ak 155,000& »22H x12& 40,920
—HAFFE 105,000 22 x12& 27,720
— H A 140,000& x14H x12& 23,520
03 SEYREHI 232,560 236,760 N4,200
ool sl 50,000& *330H ~12& 198,000
OES3g+#HESH| 34,560
— 2AEE 80,000& x4H x12& 3,840
— N2 100,000 »18H x12& 21,600
— Ml arE S 150,000 x4« 12& 7,200
—HEsSEgE" 100,000 x1H x12& 1,200
— 22 60,0003 *x1H x12& 720
304 A=22E=2S 4,833,602 4,481, 352,438
01 92823 3,995,640 3,700, 294,796
O¢28Y 4 2d83
27,030,354,000& *11.87% 3,208,504
O &Y 22
27,030, 354,000& *x3.4913%*80% 754,969
OMal2a 22 27,030,354,000& 0. 119% 32,167
02 20AUESH= 837,962 780, 57,642
O=0HLEEZ
27,030, 354,000 x5.819%*50% 786,449
OLQZEIAEH 786,449,000& *6.55% 51,513
307 212t0| & 249,337 249, 0
07 H2X23 249,337 249,337 0
OMNEZ=2 45,000
OMalEx2 15,000
OJIEE E&2 B2
25,171,000,000& *x3.7610%*20% 189,337
309 dE= 200,000 200,000 0
02 2R BHINEEZ 200,000 200,000 0
O3RIXEH 22U &Es =2 22 200,000
NEE SIS 112,500 180,000 67,500
= 78,750
= 33,750
101 2124 d| 86,930 137,230 250,300
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